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1) (-522) - (-337) 2)  Factorise g2 + 9q + 18 3) 52% of 39
Answer: Answer: Answer:

4) 2% x 10%,¢ 5) 540+ 18 6) 800 + (-846)
Answer: Answer: Answer:

7) 16+ By 8) (-312) + 26 9) Increase123by ¥/,
Answer: Answer: Answer:

10) 10 10,,-15 1%, 1) b 12) A number was shared in the ratio
6:7. The smaller share was 12. What
was the total amount shared?

a o}
Measure angle boc
Answer: Answer: Answer:
13) 494.96 +~ 18.4 14) Factorise X2 +8x + 15 15) Round 10.2879 to the nearest 10
Answer: Answer: Answer:
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16) b 17) Find the value of 'f' by completing 18) Find thevalue of 'q' by completing
the square of the following equation: the square of the following equation:
2.+ 10f + 16 2+129+20

a o} c
Measure angle boa
Answer: Answer: Answer:
19) Find the value of 'q' by completing 20)  Write 3x 104 asanormal number. 21) 15/5 +10,9
the square of the following equation:
2+129+20
Answer: Answer: Answer:
22)  Increase 55 by 41% 23)  Increase 46.4 by 50% 24) 22% of 25
Answer: Answer: Answer:
25) 22% of 25 26)  What would you multiply by to 27)  What would you multiply by to
increase an amount by 55%7? increase an amount by 55%7?
Answer: Answer: Answer:
28) 577.1+441.4 29) Decrease 174 by 1/87 30) Write 0.7 in standard form.
Answer: Answer: Answer:
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24:40. The larger share was 20.
What was the smaller amount?

Answer:

24:40. The larger share was 20.
What was the smaller amount?

Answer:

31) Find perimeter of 32) 9 +13 33) 145, x 1916/
square having each
s side (s) equals 898 cm
3
Answer: Answer: Answer:
34) 18/, 18, 35) Increase172by Y/, 36) Decrease 168 by %/,
Answer: Answer: Answer:
37) Find area of 38) Increase45hby %/, 39) 14 x 13 ¢
triangle
b b a=808in, b=923
in
a
Answer: Answer: Answer:
40) 662 x 612 41)  Write 0.6 in standard form. 42) 907 x 486
Answer: Answer: Answer:
43) A number was shared in theratio 44) A number was shared in the ratio 45) (1x8%) x (6x 6L

Answer:
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46) 92+ 19x 17

Answer:

47) Find the mean of the following set of data:
13,05,0.9,1, 30

Answer:

48) Find the mean of the following set of data:
0.3,15,0.3,04

Answer:

49)  962x 137

50) Convert the following mixed number
1110/ 19 Into an improper fraction.

51) Decrease 77 by 82%

Answer: Answer: Answer:
52) (9x3N)x(5x7) 53)  What would you multiply by to 54)  Findtherangeof thefollowing set of detex
decrease an amount by 41%? -0.8,8
Answer: Answer: Answer:
55)  Findthemode of the following st of data 56) 982 + 539 57) Round 19.1428031503 to the nearest

50, 50, 50, 50, 50, 50, 99, 99, 76,
76, 87, 87, 87, 87, 87, 87, 98, 98,
66, 66, 66, 66, 66, 66

whole number.

Answer: Answer: Answer:
58) 37.2x284 59) Solve by factorising 60) 290+ 10
j2+12j-13=0
Answer: Answer: Answer:
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61)  Write 0.0006 in standard form.

Answer:

62) Round 13.87 to the nearest 10

Answer:

63) 8-y

Answer:

64) 114458+37.9

65) \

Name the type of angle.

66) 236.6 + 33.8

Answer: Answer: Answer:
67) A number was shared in the ratio 68) 1076+ Y 69) 15 8/,,-7 6
9:26. The smaller share was 45.
What was the larger amount?
Answer: Answer: Answer:

70)  (-389) + 766

Answer:

71) (10x 68)/ (5x 1%

Answer:

72) (10x 68) / (5x 1%

Answer:

73) /

‘Name the type of angle.

Answer:

74) Find the percentage change from 4 to
12

Answer:

75) 'What isthe probability of rolling a
number less than 2.when rolling a
dice

Answer:
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76) (3x9)-17+3 77) A number is chosen at random from 78) 452 - 432.2
1to 50. Find the probability of
selecting multiples of 12 and 15.
Answer: Answer: Answer:
79) 4g, of 162 80)  05:30am T010:22 am 81) Write 8 x 102 asanormal number.
Answer: Answer: Answer:
82) Findthevaueof 'd by gompl eti ng 83) 'What i_sthe probability of rol!ing a 84) 7l 7% 9/14
the square of the following equation: even prime number.when rolling a
2+4d+4 dice
Answer: Answer: Answer:
85)  Findthemedian of the following set of data: 86) Find perimeter of 87) Round 10.0681 to 3 significant
23, 37,40, 18, 9, 18, 17, 20, 19, 22, b rectangle having figures.
30,2,8,31,18 sidesa= 850 ft
a and b = 232 ft
Answer: Answer: Answer:
88) 129/18 . 121/2 89) 715/17 X 98/9 90) Find the mode of the following set of data:
32, 32, 65, 65, 65, 65, 65, 81, 81, 2,
2,2, 2,40, 40, 40, 40, 40, 40, 99,
99, 99
Answer: Answer: Answer:
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91) \

A=62
Find the Angle at side B.

Answer:

92) 3900 + 100

Answer:

93) A number is chosen at random from
1 to 50. Find the probability of
selecting factors of 13.

Answer:

94) 95) 10/13 -+ 17,1 96) 20000 + 1000
'‘Name the type of angle.
Answer: Answer Answer:
97) 519 %x YU 98) 99) 16/, 3% %4
Find Volume of
Cylinder
Answer: Answer: Answer:

1000 7.x%,

Answer:

Total: /100
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Answers:
1) -185 2) (g +3)(q+6) 3)20.28 4) 26%2 o 5) 30 6) -46 730
8)-12 9) 132 10) 1074, 11) 48 12) 26 13) 26.9 14) (x + 3)(x + 5)
15) 10.3 16) 114 17) (f +5)2-9 18) (q+6)2-16 19) (q+6)2-16 20)30000  21) 6%/
22) 77.55 23) 69.6 24)5.5 25)55 26) 1.55 27) 1.55 28) 1018.5
29) 172 30)7x 101 31) 3592cm 32) 18 33)203%0,,4 3449, 35) 176
36) 158 37) 282698.40460816in 38) 51 39) 11/, 40) 405144 41)6x 101 42) 440802
43)12 44) 12 45) 64 46) 47) 9.08 48) 4 49) 131794
50) 2194 51) 13.86 52) 81048984345 53) 0.59 54) 8.8 55) 50 56) 1521
57) 19 58) 1056.48 59)j=1or-13 60) 29 61) 6x 1074 62) 13.9 63) 113/,
64) 30.2 65) Acute 66) 7 67) 130 68) 109, 69) 787/, 70)377
71)3359232  72) 3359232 73) Obtuse 74) 200% 75) Yg 76) 77 7Igg
78) 19.8 79) 8 80) 04 Hours 52 Mins 81) 800 82) (d +2)? 83) U 84) 15
85) 20 86) 2164ft 87) 10.1 88) 1/, 89) 77145 5 90) 40 91) 118
92) 39 93) 9, 94) Right 95) 17,5, 96) 20 97) ¥ 98) 18472.564803108

99) 84/, 45 100) 84/, 45
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